Name: 10 X Tables

Working Mathematically

I
9x10 = 10 x 4 =
: 1) 00000| | 00000| 000600
0 x 10 = 5 « 10 = , 00000| |00000| | 00000
— — ]
| How many dots are there?
6 x 10 = 4 x 10 = ;
|
|
2 x 10 = 8 x 10 = [
— —
|
7 x 10 = 10 x 8=_:
|
1 x 10 = 10 x 1 = |
T T
|
7 x 10 = 10 x 3=_:
|
10 x 2 = 10 x 0 = :
o o
|
10 X 5 =_ 0 X 10 =_ :
|
10 x 1 = 2 x 10 = !
. — Each container has 10 strawberries.
|
10 x 10 = 10 x 10 = 1 How many strawberries are there
: altogether?
1x10 = 5x 10 = !
|
1 4)
10x 0= 4 x 10 =
|
|
10 x 8 = 10><10=_:
|
10x 5=__ 10 x 6 =__
|
9 x 10 = 10 x 3 = | There are 10 rooms on each
T | floor of this building. How many
10 x 9 = 10 x 6 = : rooms in the building?
]

Copyright 2013 © Studyladder Www.studyladder. com




